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Quadratics 6 ­ Quadratic Application
Standards: A­REI.4b, F­IF.9
GLO: #3 Complex Thinker HW#1:  Quads 6 #1­5
Math Practice: Model with Mathematics

Learning Targets:
What are key words you should look for when solving 
Real­World quadratic problems and what do they 
mean?
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Given the graph of the quadratic function f below and 
, select whether each statement is 

True or False
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2. A ball is hit by a baseball player, and the height of 
the ball is given by the function h(t) = ­16t2 + 58t + 3 
where h(t) is the height of the ball (in feet), t seconds 
after the ball is hit.

a. What is the value of h(0).  What does this value 
represent in the context of the given situation? 

b. What is the value of h(1).  What does this value 
represent in the context of the given situation? 



01Quad6­QuadraticApplication Notes.notebook

4

October 18, 2017

Oct 21­11:29 PM

2. A ball is hit by a baseball player, and the height of 
the ball is given by the function h(t) = ­16t2 + 58t + 3 
where h(t) is the height of the ball (in feet), t seconds 
after the ball is hit.

c. Determine the coordinates of the vertex of h(t) and 
interpret what these values mean in the context of the 
given situation.

d. Recall that an equation is actually asking you a 
question. Translate the equation h(t) = 0 into a 
question, and then explain what the answer to this 
question represents in the context of the given 
situation.
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2. A ball is hit by a baseball player, and the height of 
the ball is given by the function h(t) = ­16t2 + 58t + 3 
where h(t) is the height of the ball (in feet), t seconds 
after the ball is hit.

e. Set up an equation and solve it using the quadratic 
formula, to determine the time, t, when the ball will hit 
the ground. Round your answer to the thousandths 
place.
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2. A ball is hit by a baseball player, and the height of 
the ball is given by the function h(t) = ­16t2 + 58t + 3 
where h(t) is the height of the ball (in feet), t seconds 
after the ball is hit.

f. After how many seconds was the baseball 40 ft above the 
ground?  
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2. A ball is hit by a baseball player, and the height of 
the ball is given by the function h(t) = ­16t2 + 58t + 3 
where h(t) is the height of the ball (in feet), t seconds 
after the ball is hit.

g. State the domain and range of h in the context of the 
problem.    
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3. A cell phone company predicts monthly profit 
using the equation  

where P(x) Is the monthly profit in thousands of 
dollars, and x is the amount spent on advertising in 
thousands of dollars.

a. What amount should the company spend on 
advertising to maximize the monthly profit? Show 
or explain your work.

b. Predict the maximum monthly profit.  
Show or explain your work.
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3. A cell phone company predicts monthly profit 
using the equation  

where P(x) Is the monthly profit in thousands of 
dollars, and x is the amount spent on advertising in 
thousands of dollars.

c. To the nearest dollar, what is the maximum 
amount the company can spend on advertising 
and still have a positive profit?  
Show or explain your work.
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